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S AlOI St 28,587,8% 18,294,989 10,292,906
= 4,906,000
Al 23,681,89%
azel 28,463,713 18,124,918 10,338,795
= 4,906,000
Al 23,557,713
HJl22 =28 Ml 12,650,429 15,349,872 A2,699,443
HII= Xcl 22 - 253t 177,865 181,610 A3,745
201 €BH=gHl 15,100 17,705 A2,605
01 AtF2tclHl 15,100 17,705 A2,605
O get=EH| 8,500
o SEA AN, SAY dEHDI=S Berr2 13,5002 = 400 5,400
o AMEEHDIZ +& 288 NS 5002 * 50008 » 25 500
o HJII= HHEXN ADES HH 500& » 50004 » 4= 1,000
o HIIZS tHEX € Melgdh usul s M 2,000& = 5002 » 15 1,000
o FREELE = MH 60,000& * 10042 » 13 600
O gxz 6,600
o ALHIIZS SESI| =AHEHI(2401) 300,000& = 123 3,600
o A&HDI2 S8SI =HEHI(8X) 250,000& * 123l 3,000
202 O4dl 2,760 2,700 60
01 =LHo8I 2,760 2,700 60
O HIIZ BiE, Mclgh Z&, ZE, Al &§3H% 75,0008 * 2& » 2 * 33 900
O HolSZeld HEWs & 2 Mot &4 75,0003 = 2& * 32 * 23 900
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S B S9(S0) - MRAE - BaS Of ¢ o o HIDS

O &X 24 HII= LHZA 20,0008 * 38 = 4& 43| 960
307 212+l ™ 18,000 19,200 A1,200
05 giztee=3 18,000 19,200 A1,200

O HEH AMEH =8 HIE HII= AN === 18,000,000 * 14 18,000
308 AAIHHSOIA 142,005 142,005 0
08 JIEtRE= 142,005 142,005 0

O ZXHDI2 HEHEE g sDE+=32E(EEL) 23,667,380 * 50% * 122 142,005
dEHD = =8 - 28 € JI2EL 12,249,128 14,945,576 A2,696,448
307 glzZtold 12,249,128 14,945,576 A2,696,448
05 gizteEe=3 12,249,128 14,945,576 2,696,448

O FaUA 12,249,128

© =2 A3A 5,858,849

- QAHISHAY 4,348,158,000& * 14 4,348,158

- P2l SHAHY 321,818,000& * 14| 321,818

- OI=8YAHY 280,199,000 » 14 280,199

- 33224l s 567,096,000& » 14 567,096

- dHIEd=s SAAY 140,580,000 * 14 140,580

— Zota2tl S8 200,998,000& * 14 200,998

o HEZAZA 3,414,756

— 2lAH] SHA & 2,511,484,000& * 14 2,511,484

- 2EEgdl SAAY 178,757,000 * 14 178,757

- 0l s9Hd 188,317,000& * 14| 188,317

- 33284l s8AY 305,009,000 * 14 305,009
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- dHIEd=E SAAY 80,514,000& * 14 80,514

— Zotaf2Hl SUAH 150,675,000& * 14| 150,675

o el SESA 2,545,602

— olAdl SHAY 1,850, 128,000& * 14 1,850,128

- U2l SHAY 204,084,000 » 14 204,084

- Ol %A 162,283,000& * 14| 162,283

- 332ZHl SHUAY 214,375,000 » 14 214,375

- dHI24d= SYUAHY 59,100,000 * 14 59,100

— Zota2Hl SHAH A 55,632,000& * 14| 55,632

o HGAASA 429,921

- QAH| SHA 283,033,000& *» 14 283,033

- ZEEEHl SHAY 46,157,0008 * 14 46,157

- 0l S%9Hd 32,919,000& * 14| 32,919

- SSEEH YA 34,176,000& * 14 34,176

- dHEa= SUHY 8,946,000 * 14 8,946

— ot SHA 24,690,000 * 14 24,690
M3 200t HZEs 15,210 16,410 A1,200
201 £et2dH] 13,960 15,160 1,200
01 A2ty 13,960 15,160 A 1,200

O get=24 9,010

o ¥ZEs 83 7Y 7,400

- PPXE 250 * 20,0000H 5,000

- & 2,000& = 15004 300

- 237 3,000& = 504 150
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- Sz 3,000& = 100K 300

- 5,000 * 3004 150

- % 3,000& = 100K 300

- & 3,000& = 50Et = 8 1,200

o FUEE 40 HF(LEIE) 60,0003 * 304 * 23] 360

o MEHIIZS tHE2Y 2 N0 A 2,5002 * 5000H 1,250

O gx=z 4,950

o YUXl MEHIISMl = HEHI (A 300,000& * 3 * 32l 2,700

o YUXl MEHIISXM2 =HEH(EZ) 250,000& * 3 = 33| 2,250
303 Z&3 1,250 1,250 0
01 ZA&Z2 1,250 1,250 0

O MY 20| HER2E 2+ SHE AA(SHS) 200,000& * 504 1,000

O M3Y 20| HEB2S 23 SHE MY (R332E) 50,000& * 5% 250
HOISSEH &% 208,226 206,276 1,950
201 LBr2EY| 25,851 26,251 2400
01 ArS2teld] 25,851 26,251 2400

O ek=2H| 25,851

o WEHDII=S &AM AEIH ME 953 * 2,50001 = 105 * 33 7,125

o MEHIISEHM S5 HEZIAM =2 21,100& = 53 * 123 1,266

o MEHIISZN HHEXAU AUEEE HE M (MKEH0H)

1002 = 5,00008 = 32/ 1,500

o MEHIISELM SSEHMA EXE ZHI(AR,8E S) 15,0003 * 10004 = 13 1,500

o EYEIIZE FUUEEE 9 HE(LEHE) 60,000 * 3L * 23] 360

o SYPSIIFNE M7 ME L HHI(HEE) 100,000& * 10070 10,000
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o SYSIZANT A7 WA L JH(2HE) 60,000& * 602 3,600

o SHSIIMHE MEt HALE L fils=== 2,000& » 2504 500
206 =4l 172,775 170,425 2,350
01 M=l 172,775 170,425 2,350

O MEHII2 SEM 25 W 154,409

o YUBt= 59 17.27& = 21,00000 = 122 4,353

o 2Btz 104 24,853 * 100,0000H * 122 29,820

o YUBt= 204 40.33& * 100,0000H = 122 48,3%

o 2dBk=z 504 88.84& * 60,0000  12& 63,965

o YUBH= 1004 164.06& * 4,00000 = 122 7,875

O SAEF HII2 E2H =5 M= 9,284

o 14 9.51& = 8,00001  12& 913

o 24 11.87& * 8,00004 » 123 1,140

< 3¢ 13.97& = 15,00000 = 122 2,515

© 54 17142 * 20,00000 * 1228 4,114

< 104 25.056% * 2,00004 » 12& 602

O HIOISZ2H =5 HE(MAIS S5) 2,364

= 104 25.05& * 3,00004 = 123 902

= 204 40.61& * 3,00004 » 12& 1,462

O HDISE2H =5 M (238 85F) 6,718

= 204 40.33& * 1,00004 = 12& 484

= 504 88.84& * 4,00004 » 123 4,265

< 1004 164.06& * 1,00004 * 123 1,969
301 LetEaazg 9,600 9,600 0
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12 JIEt24&= 9,600 9,600 0

O HIlE 2857 &1 i3 9,600

o ASF UIMS 50,0002 * 102 = 12 6,000

o gHiEx &Il 15,0008 = 2024 » 12 3,600
Ao Hoft HEE 5,997,770 2,549,880 3,447,890
SMEF HIIZE fIEXel & ZEa A5 = 5,939,230 2,476,300 3,462,930
201 €Bt=2gH] 6,500 3,500 3,000
01 A2ty 6,500 3,500 3,000

O gegt=EH| 6,500

o SAEF HDI= Z22APANLY ZHEA HXE HE 15,0008 * 200H2 * 12 300

©o SAEF HIIE =8 ERES NH 100& * 2,00004 = 35 = 63l 3,600

o SAESF HII=S 2cliiE 28 222 M 1002 * 20,0005 2,000

o SAER HII2 2cIiEs 88 8% M 60,0002 * 1004 * 13l 600
202 O4H 4,500 4,500 0
01 =LHoil 4,500 4,500 0

O SA=F HoI=2 fISXHeIEH E4Xel 0F 83 75,0002 * 2& » 2 « 123 3,600

O S4=2F HJl= 2CiE & 2EAANEE 24+ NS A

75,0003 * 2% * 32 * 23| 900
207 AR 35,000 0 35,000
01 S| 35,000 0 35,000

O SA=F HII= HHEZ BldM2A2IAAY & SEI|HE 35,000,000& * 14 35,000
307 glz2told 5,887,230 2,464,800 3,422,430
05 g3 5,887,230 2,464,800 3,422,430
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O SA=EF HIIZ A Hel 85,000& = 78E » 30 * 123 2,386,800
O Z2t=HED| M= CHEYI 78,000,000 * 14| 78,000
O FAUdEAS 3,422,430
o HEBAZA 1,615,640
— QIAHIZS WA & 1,030,994,000& = 14 1,030,994

- LR IHl SHH A 221,859,000& » 14] 221,859

- 0|23 & 75,172,000& * 14| 75,172

- SES2ZLISUAHL 143,876,000& * 14 143,876

- AHIBANZ BUAL 34,506,000& * 14 34,506

— 2Ita2Hl SHA A 109,233,000 * 14 109,233

o HESZAHZAL 1,275,629
— QIAHISHUH A 844,185,000& » 14] 844,185

— UBHRId] BSUA L 151,851,000& » 14 151,851

- 0l SHAL 69,723,000& » 14] 69,723

- S32Zdl SUEAL 109,533,000 * 14] 109,533

- HHIEYS SAAL 26,838,000& » 14] 26,838

— Zota2dl BUA A 73,499,000& * 14| 73,499

o JelHESESAt 354,003
— QIAHl WA & 229, 156,000& * 14 229,156

- LR IHl SHA A 50,986,000& » 14] 50,986

- 0|2 3EAH & 22,132,000& * 14| 22,132

- S32ZHl SHA A 27,289,000& » 14] 27,289

- AHIBNZ BUAL 7,668,000 * 14 7,668

— 2ItA2Hl SHA A 16,772,000& * 14 16,772
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Shol: XpRio] HorD HES (Ero): &l
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
02 S==29Hl 7,140 7,140 0
O ¢l 2,016
o HEE dE&¥D HEUHI(AUSSR) 8,400 = 120 ~ 2CH 2,016
O AlZ&HIS X 5,124
o Ness d8F1) |2+ 42,700,000& * 35 * 4% 5,124
202 o8l 3,510 3,150 360
01 =LHoitl 3,510 3,150 360
O Mgs3 2cd=H dlu X 45,0003 * 28 * 3 = 43] 1,080
O ZANXNS Hess = 45,0008 * 69 * 32 * 33 2,430
206 M=Hl 600 600 0
01 M=Hl 600 600
O W83 dEF LIAAF(2R) 7Y 25,0008 * 43| » 63 600
301 Let2ds 7,000 18,200 211,200
12 JIEt24&= 7,000 18,200 A11,200
O MHeES =H Hd= 10& = 700,000kg 7,000
181 EZ ALEA 4,350 4,350 0
201 €Bt=2gH] 1,800 1,800 0
01 A2ty 1,800 1,800 0
O ggt=EH| 1,800
o 1283 AEYGHN 828 dHX MH 3002 * 2,0000H 600
o 1323 AIEYM ¢ A ¥ EEE ZAH WA 300 * 3,0000H 900
o ZZJ|& 18183 H=01J| 222 & ZAH HHA 3002 * 1,0000H 300
202 O4H] 1,350 1,350 0
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SN HE - SR(B) - MRAY - BES ol arey o HI D2
01 =UHbI 1,350 1,350 0
O 13123 MEYH HEg &4 75,0002 * 3% * 32 x 23] 1,350
301 LetEazg 1,200 1,200 0
12 JIEIEA3 1,200 1,200
O 131838 MEFA I ADEAS 20,000& = 524 * 12& 1,200
MEHIIZE Xeldlgh &= 9,815,514 225,166 9,590,348
= 4,906,000
Al 4,909,514
SAEHDIIZE SEXAE ALMS 8,006, 120 7,725 7,998,395
= 4,000,000
Al 4,006,120
201 Lor2H| 1,560 3,600 A2,040
01 Ar2teld] 1,560 3,600 A2,040
O get=ZH| 360
o FUXFEAM 2% =2 M 60,000& * 63l 360
O 28+ 1,200
o FUXAYEAAM 3oL 100,000 * 2% * 63/ 1,200
202 O4d| 3,660 3,525 135
01 =UWHb 3,660 3,525 135
O 32 R =& oyl 75,000% * 2H * 2 « 53] 1,500
O & A2 X =ol ¢l 20,000& = 3H * 3 » 123 2,160
301 LetEaazg 900 600 300
10 SAtAHIE2a = 900 600 300
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chel: MEBHIIE M2l &= Chel:
SN HE - SR(B) - MRAY - BES ol arey o HI D2
O EANEHIISSEMaIAE HEAY 23 =039 &4 15,000& » 20 * 38/ 900
401 Al HIZ2OHYI 8,000,000 8,000,000
= 4,000,000
Al 4,000,000
01 A&l 7,325,600 7,325,600
O SAEHIIZEZEM2AIE HAEAY 8,000,000,000& * 91.57/ 7,325,600
= 3,797,680
Al 3,527,920
02 Zeltl 656,000 656,000
O SAEHDISESMelAY H4Are A 2e| 8,000,000,000& * 8.2/100 656,000
= 196,800
Al 459,200
03 AlZS0HdI 18,400 0 18,400
O SAIEHIIEZEM2AIE AEAY 8,000,000,000& * 0.23 / 18,400
= 5,520
Al 12,880
SAE NSAlE RIZFET ALY 157,920 0 157,920
= 156,000
Al 1,920
202 O4d| 1,920 0 1,920
01 =LA bI 1,920 0 1,920
O SASHESANE 3& 29 HF 32 20,0002 * 2 * 43| » 123 1,920
402 QIZERHE0IA 156,000 0 156,000
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chel: MEBHIIE M2l &= ?EA
SA - FH BN - MRAY - BES Ofl ar o e 2

402 QIZERHEO0IA = 156,000
01 SIZtREEX 156,000 156,000

O SASNASAIE X At 156,000,000& * 14 156,000

= 156,000
SMXS MEMY D] 28 Hel 94,205 94,205
201 Ler2g 93,125 93,125
01 Ar2teld] 93,125 93,125

O gx=z 93,125

o TNXNSY MEHIIE 28td Yt 1,862,500& *» 2 * 25= 93,125
202 O4dl 1,080 1,080
01 =UWHb 1,080 1,080

O O Hi 1,080

o EAXNSY MEHDIIZ 2E &KX =0l 1,080
SEAXSE HIISX2AE 2 245,976 93,625
201 LBr2EY| 147,786 31,255
01 AtR22H| 73,786 31,255

O get=ZH| 73,786

o PMUIHEAIE HIIZAM =2 4,019,000& » 2JHA 8,038

o Xt A =82 172,800& * 3KIE * 202 = 43] 4,148

o MIEAIE S FH| AIH(ZIY Q! 500,000& * 18] = 128 » 2004 12,000

o MUANE SE FHHl LIH(EE) 350,000& * 13| » 128 * 2JH4 8,400

o ZIOIOHEE =5 &l dIH(ZI Q) 500,000& * 43 » 100H2A 20,000

o ZI0I0HEE S&E AUl Yx(gm) 350,000& * 48 » 10JHA 14,000
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chel: MEBHIIE M2l &= (&t &3
SA - FHB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
o 2H0IHEE =M 28 =4 1,800,000& * 2 = 23] 7,200
02 232244 74,000 74,000 0
O AMEZHIRAIYI 4,000,000,000& * 1.5% 60,000
O Xtgdetl 7,000,000& * 2CH 14,000
202 O4dl 2,760 2,400 360
01 =W 2,760 2,400 360
O MBS AIE S =0l 45,0002 * 29 » 123 1,080
O 20IHEE 2 22 A H4 45,0008 * 294 » 123 1,080
O MM AIE A AlZ THH 75,0002 * 2F * 43] 600
206 M= Hl 41,430 33,420 8,010
01 M=l 41,430 33,420 8,010
O gogZ (2P L ALY 25,0003 * 50 * 27J0HA 33,750
O =EX 72| 4,000& * 0.2m = 1,200m" » 43| * 242 7,680
401 Al&HIL S O0HYI 54,000 0 54,000
01 Al&HI 53,417 0 53,417
O &t SZE 20IHEE 23 At 30,000,000 = 98.92/100 29,676
O &dH HE 2I0I0HEE B3 At 24,000,000 * 98.92/100 23,741
03 AR 583 0 583
O &HatH RE 2H0IHBIE 222 AH1.08%) 324,000& * 14 324
O &tbtA M= 2H0I0HE & Z=Z AH(1.08%) 259,000& * 14 259
SHE HJI=2 SEHelAE EXALE 1,196,550 3,350 1,193,200
= 750,000
Al 446,550
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ol HEHII=S X2Dlgt = (S d &
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS

201 €Bt=2gH] 45,200 2,000 43,200

01 A2ty 45,200 2,000 43,200
O 28+ 2,000
o NI LBEFE2AAER S =& 100,000& * 10& * 22 2,000
O gxz 43,200
o Hols 2 g% gt 1,800,000& = 33 » 6& 32,400
o HIl= 28 XtE YRt 300,000& * 2CH = 33 » 63 10,800

202 O4H 1,350 1,350 0

01 =UWoH 1,350 1,350

O HDIEXCIAE &R g% 82 75,0008 * 338 x 2& x 33 1,350

401 Al EHIX S0 1,150,000 0 1,150,000
2 750,000
Al 400,000

01 A& 1,142,395 0 1,142,395
O g8 22k sOHEHII=2 SEXAE £X 400,000,000& * 99.28/100 397,120
O &atH A2 sHEHDI= SEXCANE ZX 750,000,000& * 99.37/100 745,275
= 745,275

03 AlZ=UHHI 7,605 0 7,605
O g8 32k sOEHII=2 SEXelAE £X 400,000,000& * 0.72/100 2,880
O &atH A2 sHEHDI=Z SEXCANE £X 750,000,000& * 0.63/100 4,725
= 4,725

SAXS 2H0I0HE S HIA 114,743 0 114,743

201 €Bt=2gH] 113,393 0 113,393
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MEHIIES HMelllgt ==

SN HE - SR(B) - MRAY - BES ol arey o HI D2

01 ArS2teld] 113,393 0 113,393

O HoIE 28t &« Xt 1,800,000& * 3 » 100HA 54,000

O O HoI2 2= &4l A3 (Z3e!) 500,000& * 3 » 100HA 15,000

O g HolZ2 == &4l dagmz) 350,000& * 3 » 408 » 10JHA 42,000

O HIIE Ml =2 15,950& » 150& 2,393
202 44| 1,350 0 1,350
01 =3LHAbI 1,350 0 1,350

O ZI0IHE & HIH & =0l 45,0002 * 3F = 12 = 102 1,350
HY2HAHI (S AlIOISHD) 124,182 170,071 A45,889
oI5 23| 17,158 56,812 A39,654
oIz 23| 17,158 56,812 239,654
101 @Il 12,958 52,612 239,654
02 =Y 5,056 50,942 245,886

O AMJHA HZ4E &0l & 2HS)| NEEE 5222 56,1753& = 3H * 30 5,056
09 RIAHAZZXNE=S 7,902 1,670 6,232

O HII2 2857 N 5d22+Y 47,2202 = 19 » 24+ 150% 1,700

O Azt 2222H(HII8 SESIIXNT](1), HESEHEIR(3))

6,460& * 4H x 20AI2F = 128 6,202
203 HRF=&Y| 4,200 4,200 0
04 BENA2EIRFLHI 4,200 4,200 0

O TAlIDISIH(H 320 350,000& * 12& 4,200
Jl=&| 107,024 113,259 A6,235
107,024 113,259 26,235
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£rel: D= | (Sl 2
SA - FHB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
201 Ler2d 74,584 80,819 26,235
01 AtR22H 47,038 53,273 26,235
O Lot=xZ2H| SHH & 13,468,000 * 14l 13,468
O =gt 29,320
o FA2E SEH SHUA L 14,920,000 = 14l 14,920
o ME . SAMER HIIS SYHEI ZA(SHS 1) S22 14,400,000 = 14 14,400
O LI=Hl WA A 4,250,000& » 14 4,250
02 Z2Z2<H| 27,546 27,546 0
O 2323 % HMA SHH& 27,546,000& * 14l 27,546
202 O4d| 32,440 32,440 0
01 =UWoH 19,720 19,000 720
O BN2E XA 4 19,720,000 = 14l 19,720
02 AN 12,720 13,440 AT20
O HoIS23 AMEE T o= 160,000& * 4% » 123 7,680
O d8 .- 34=2] Hol2 sS850 Nk == 160,000& * 29 » 123 3,840
O 18183 AE+H N &5 100,000& * 1H * 123 1,200




